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(px
m,n > Aε) ∨ (py

m,n > Aε).
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�
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�
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H−f = h−f + εg−fi,G−f = g−f + εh−fi,
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H |H−f = (h|h−f − ε2g|g−) + ε(h|g−f + g|h−f)i;

H |G−f = (h|g−f − ε2g|h−) + ε(h|h−f + g|g−f)i;

G|H−f = (g|h−f − ε2h|g−) + ε(h|h−f + g|g−f)i;

G|G−f = (g|g−f − ε2h|h−) + ε(h|g−f + g|h−f)i;
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H |H−f = (h|h−f −O(ε2)) + ε(h|g−f + g|h−f)i;

H |G−f = (h|g−f −O(ε2)) + ε(h|h−f + g|g−f)i;

G|H−f = (g|h−f −O(ε2)) + ε(h|h−f + g|g−f)i;
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0 h|h−f ≈ fcp � �����
���� �� �
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= h|g−f � �����
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> g|h−f � �����
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��	� Im(H |G−f) = Im(G|H−f) = (h|h−f +
g|g−f) �� Re(H |H−f) = (h|h−f)+O(ε2) ��
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H |H−f = (h|h−f −O(ε2)) + ε(h|g−f + g|h−f)i;

H |G−f = (h|g−f −O(ε2)) + ε(h|h−f)i;

G|H−f = (g|h−f −O(ε2)) + ε(h|h−f)i;
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�
��� %	� f(x, y) > 0  \
�
� Ωf ������%�$ �����*	��*
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 S��� &��"'�� �����
"��� 	� Ωf = 0  3��	
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	���'�� Ωf�����≈0  
/�����$ C(x, y) = Ωf

f
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�
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�
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	��
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datxy := | Im(H|H−f)

Re(H|H−f)
| = ε| (h|g−f+g|h−f)

(h|h−)
| +O(ε2);

datx := ε2|Re(H|G−f)

Im(H|G−f)
)| = ε| (h|g−f)

(h|h−f)
)| +O(ε2);

daty := ε2|Re(G|H−f)

Im(G|H−f)
| = ε|( (g|h−f)

(h|h−f)
| +O(ε2);
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f(x, y) =
{

1, x > y3, x ≤ y.
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datxy := ε| (h|g−f+g|h−f)

(h|h−f)
| = εαΩf

f
≈ aεC(x, y)−

	���"� �������	�����
 � 

�	�"�����
 �����
�

datx := ε| (h|g−f)

(h|h−f)
| = εαΩf

f
≈ aεC(x, y)−

�
	 �������	������ �����
�


daty := ε| (g|h−f)

(h|h−f)
| = εαΩf

f
≈ aεC(x, y)−

�
	 

�	�"������ �����
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(��
�
��$ &��"'�*, test(dat, c)i,j :=

{
1, dati,j ≥ αεC

0, dati,j < αεC.
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 3� ���	�	�%�� ����$�	�
	� res(C) = test(datx, C) ∨ test(daty, C)
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��
� ��� ψ(t) ∈ L2(R)� ����	��������

����������� ������������ ∫
ψ(t) dt = 0

�������� ��������� ����	����

ψa,b(x) = |a|−1/2 ψ(
x− b

a
), �Q�
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�� a, b ∈ R, a 
= 0� ��
�� ����������� ����	����������������� �� ����

��������� ����	���� ������	��� 

(Twavf)(a, b) = 〈f, ψa,b〉 =

∫
f(x) |a|−1/2 ψ(

x− b

a
).
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∫
dx(1 + |x|) |ψ(x)| < ∞ � ψ̂(0) = 0� #�	�

�
���������� $��%&�� f ���������� �� '����&� � ��%�����	�� α, 0 ≤ α
��	� ��(������� ��	���� px0 , deg(px0) = �α�� �� ��

|f(x) − px0(x0)| ≤ C |x− x0|α ,
�� �� ����	����������������� ����	�������� �&��%�

|Twav(a, b)| =
∣∣〈f, ψa,b〉∣∣ ≤ C

′ |a|α+1/2 . �G�
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	�"�� ��%"�� ��� f ∈ L2(R) �
���������� � ����������� #�	� �	�

��%�����
� α ∈]0, 1[ ����	����������������� $��%&�� f ����	��������

�&��%� ∣∣〈f, ψa,b〉∣∣ ≤ C |a|α+1/2 �D�

�� f ���������� �� )�	���� � ��%�����	�� α�
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$ (�����%�$ cn,j � �	�����	��
 "�#&&�'�
�	�� � c̃n,j

� �$
)����
� ��� -����'
��
- (%

����� %	� ��� n = 2N c̃2N,j = cN,j�

 ���%�
 
��� n = 2N + 1 ,

c̃2N+1,j = 〈f(x);ψ(
x

2
− 2N + 1

2
)〉 = 〈f(x);

∑
k

〈ψ(
x

2
− 2N + 1

2
);ψ(

x

2
− 2k

2
)〉 ψ(

x

2
− k)

+
∑

k

〈ψ(
x

2
− 2N + 1

2
);φ(

x

2
− 2k

2
)〉 φ(

x

2
− k)〉

= 〈f(x);
∑

k

a2N+1,kψ(
x

2
− k) +

∑
k

b2N+1,kφ(
x

2
− k)〉,

��
 a2N+1,k = ���������� ���	��)
��
$ �
���	

����	��

= 〈ψ(
x

2
− 2N + 1

2
);ψ(

x

2
− 2k

2
)〉

= 〈
∑

l

g[l] ψ(x− (2N + 1) − l);
∑
m

g[m] ψ(x− 2k −m)〉

=
∑

l

g[l] g[2N − 2k + l + 1] = g ∗ g(2k − 2N − 1);

�������%�� ����%�
$ 
����
��� ��� b2N+1,k :

b2N+1,k = g ∗ h(2k − 2N − 1);

1���� c̃2N+1,j =
∑

k

a2N+1,kck,j−1 +
∑

k

b2N+1,kdk,j−1 �F�

0=
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d̃2N+1,j =

= 〈f(x);
∑

k

p2N+1,kψ(
x

2
− k) +

∑
k

q2N+1,kφ(
x

2
− k)〉,

��
 p2N+1,k = h ∗ g(2k − 2N − 1);

q2N+1,k = h ∗ h(2k − 2N − 1);
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��� d̃2N+1,j =
∑

k

p2N+1,kck,j−1 +
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k

q2N+1,kdk,j−1 �0@�
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